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Note : Do any ten questions.

1. Do you agree with the following statements ?
- ~ Give reasons for your answer. _ 10

()  Errors made while learning are a reflection
of lack of practice and concentration on the
part of the learner.

(i) There are about one-third learners in any
class who are not capable of learning
mathematics.

(ii) A good classroom must have pin-drop
_ silence.
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(iv)

2. (a)
()
3. (a)
(b)
LMT-01

On any given day it may or may not rain,

and hence the chance of having rainfall on

any day is % .

Explain what is a schema using an example
of a child of Class IV learning about a
rhombus. How would the schema alter if it
is a child of Class VI ?

What does ‘taking another person’s
perspective’ mean ? Explain this with an
example. Further, give a task for a group of
5 children that can help them to develop this

ability. '

What is the difference between conceptual -
knowledge and procedural knowledge ?
Explain this using the division of rational
numbers being taught to a child in Class
VIII. Give an example of a question to
assess each of these knowledge domains for
a Class VIII child.

What is the divisibility rule for 5 ? Explain
this with examples. Also give the logic
behind the rule.



4. (a) Suppose a teacher teaches natural numbers
and integers to learners of Class VI. What
does she expect them to learn, if she
follows ‘ 8

(i)  the banking model of learning ?
(ii) the programming model of learning ?

(iii) the model with learning as
construction ?

Explain each giving details of what would be
expected to be learnt.

(b) How many lines of symmetry does a circle
have ? Give reasons for your answer. 2

5. (a) What does ‘tesseliation’ mean ? Explain this
with an example. 2

(b) List 3 essential features of a good activity.
Explain these features through an example
of an activity for helping children develop
the ability to draw conclusions from data. 5

(e) Give an activity to help a class of 30 children
estimate the result of subtracting one
decimal fraction from another. Which class
is this activity appropriate for, and why ? 3

6. (a) Give an example of a process diagram found
in school textbooks. Give two mistaken
ideas that children can get by looking at
such diagrams. For any one of these
misconceptions, how would you help
children to correct it ? 5
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(b)

7. (a)
(b)
8. (a)
(b)
(c)
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Give two reasons why mathematics should
be a part of the primary school curriculum.
Also explain them through two distinct
examples. ’

Give three important differences between a
map and a picture. Further, list three
difficulties that children usually face when
reading maps.

How would you justify the statement, that
children are not blank slates before they
come to school ? Give examples from the
areas of language and of mathematics.

Ifforpe N,p,p+ 1, p+ 2 are the sides of a

- right-angled triangle, what is the length of

the hypotenuse ? Why ?

Eiplain the difference between inductive
and deductive reasoning. Your explanation
should include examples.

Give an example of a number that is prime
and a number that is not prime. Design an
activity with concrete objects to help
children distinguish between prime and
non-prime numbers.



9. (a)
(b)
10. (a)
(b)
()
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What does ‘conservation of volume’ mean ?
What are the three crucial abilities a child
needs to have for her to be able to conserve
volume ? Give an example to Justlfy the
choice of the three abilities. 7

Explain the following, with an example
taken from algebra : 3

(i) Assimilation of a scheme
(ii) Accommodation of a scheme

(iti) Elaboration of a scheme

Which of the following form a part of
‘mathematical thinking’ and which don’t ?
Give reasons for your responses. 6

(i)  Going from particular to general

(ii) Accepting a statement that is true in
most cases covered by it, but not in all
cases

(iii) Abstracting a process

What is the arithmetic mean and the mode,
of the following data of marks received by 10
students ? 2

11, 10, 15,17, 8, 11, 6, 11, 14, 11

Explain what ‘axiom’ is, giving an example. 2
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11. (a)

(b)
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List the five steps involved in solving a
mathematical problem. Illustrate these
steps while solving the problem below :

In a children’s club, there are 35 children
performing in a group dance and 50 children
performing in a group song. 20 children are
performing in both items. How many
children are performing in at least one of
these two items ?

Give two distinct assessment activitieé in
the context of learning of a variable.
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